— AR OE R

= AR DAE R
asin® + bcos@ =+ a? + b?sin(8 + a)
. o b B a
72721, sina= NrEYT cosa = \/ﬁ
=B DA R DFEH

xy FEREESEHE BIZHP(a, b) &b, OP=r L, #4 OP 2\ x BHOIED[ME L7294
oa LT DHEROBMRPEKY LB E T,

r=+a*+b% a=rcosa, b=rsina

asin @ + bcos 8 = rcosa sin @ + rsina cos 6

= rsin (6 + a)
=+ a? + b?sin(0 + a)
a b
72721, cosa= . sina =
N N
GER#D D)

“ABBOAKT a S E AR RIS HEH

aﬁ%@%@%@%mk%& PEPE a 25 LERRNDT, fAEEFOEFES

F7, ML, AEIRROLNLRNEEZTY, a IFEHTEBWXXFROT, a BKEIW
DLDRDOPEETLMENHY £F, B, WHTIX 0Sasnr TEATNLHDT,
tan DEDOAHZEFLIR LE T, HFETIET WIS, —-n<asnm FHF0Sa<2n 252
DT, sin & cos Ol fFEFEIRLET,

AR OGRS P

2 B x? [ZERS 1 OROT, BK - iR D 2 LT L,
2IRBHEL ax® +bx 4+ ¢ 1%, ZED ax®> L bx D2OHLDT, BlEEZDLONRHEEL,
Einb, FHEMRE LT, EEE12CLZDOTLE, AR TY sind & cosfd &
5 2 DOEHE 1 OICT 5 2L ThA - /e Rt <95 kg ZABROAHE
WET, SAEOARKICIE, sin IELDDHEE cos ICEEDDLFERH Y FI,
— IR S AR OB TR sin ([TF & O D HIER BRI TT,




